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SOCIOLOGY - II
HHTSIH - 11

Which one of the following is not

Sociological perspective ?

(A) Scientific study of the social order
and disorder in the society.

(B) Scientific study of the systems of
social action and their continuity
through time.

(C) Scientific study of the units of
human social action and to
understand how and why these
units and their relations change or
cease to exist.

(D) Scientific study of all the human
systems found in the society.

The common standards or ideas which
guide members responses in all established
groups describe ?

(A) Social values

(B) Social norms

(C) Cultural norms

(D) Social actions

The complex of roles associated, not with
a single status, but with the various
statuses of an individual come in the
category of :

(A) Role-Set

(B) Status and Role

(C) Multiple roles

(D) Role- Sequence

1.

f=r # @ &9 W TE 9w gieehiv

T e?

(A) TAS H WIS Sqere qe Teaey
1 eIk BT8R |

(B) U@y H Wwifweh foRa % Wl %
T ST TRt 1 ST ST

(C) T ThrEal & TSR fshan &1 3
e T & fore 56 3 sl =i ofF
FY ST Heleli § agena ol § s19d
3o Sifed @1 Tt § % HeW T
IR STe |

(D) wus H =rw 9t Aee sl @

AT I |

Tk I &R e faamr S gfqeenfid 9
¥ woft Te=l F wfafwensti  Fefia s
%,‘OWWEF{HT%:

(A) TS et B

(B) WISk HIeh ol

(C) WiHfTeh Al H

(D) wrIfSen fshansti o

fentedl st Sifeetar S 1 hael Toh e &
Tt Yfaeel ¥ dfceh Saeh sTe! gfasist €
Tag e s form ot & arman 22

(A)  ofiR-9e
(B) fawr iR yftrwr
(C) wgIoH firemTd
(D) yfHeRT-A
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The term “reference group” is applied :
(A) only to groups |

(B) only to individuals

(C) only to social categories

(D) to groups, individuals and social
categories as well

Which one of the following .does not
constitute an element of social structure?

(A) Sub-Culture
(B) Status and role
(C) Institution

(D) Group and Sub-group

The term, which implies a relationship not
merely between man and man but also
between man and some higher power, is
known as :

(A) Magic
(B) Cult
(C) Sect

(D) Religion

e el W -
(A) el TR R T B
(B) Tl =fed W AN B ¢ |
(C) o T oMl R AR el 2|

(D) Wga‘t feEl & Y- TSR o
R off AR B 7

e @ SlF-T1 TS WEA % T3

TS T ST TTE B ?
(A) IU-GEHfa
(B) a1 wd yfirsh

(C) wEn

(D) e 3N 39-TE

T U8 S 7 Had TTF-HIH & A% Gt
T X € 9fcsh A7 Td Al 9 of
o< AR % T off G I R | SA IR
I HEd © 2

(A) -2
(B) YHRHE (Hhee)
(C) 99

(D) &
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7. In which interview interviewer collect
information from the same group of
respondents two or more times at regular

interval ?

(A) Panel

(B) Unique

(C) Standardized

(D) Unstandardized

8. Every observable transformation, over
time which affects, social the structure or
the functioning of the social organization
of a given collectivity, and which modifies
the course of its history, is :

(A) Historical action
(B) Social process
(C) Social change

(D) Cultural change in history

9.  Which one of the following is not included
in the structural categories putforth by
Parsons ?

(A) Collectivities
(B) Values
(©) Roles

(D) Culture

7.

3 A ford TETERR W WeTeehdl FoaffE |
et Tme ¥ Frafia sioue W sl st
SR YT gl T © ?

(A) U

¥ QAT TS 1 YRS bl e1ere &
w1 yuiferd LT © 3R 39 3o @t f&
ﬁqﬁaﬁhm%,%:

(A) CfderfEes s
(B) WHISTsh Gfshal
(C) =S afterds
(D) 3frerg & wiwhfireh IfRew

e & | &9 1 e gro gfaife
et Ao # wnfie e 7 2

(A) wHfew fshamnemd

(B) T

(© frrr

(D) w&Fid
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10.

11.

12.

Who conceives of sociology as a
comprehensive science of social action ?

(A) Pareto
(B) Weber
(C) Durkheim
(D) Blumer

According to Pareto an action to be
logical :

(A) the means-end relation must
correspond to the objective reality.

(B) the means-end relation must
correspond to the mind of the actor

(C) the means-end relation in objective
reality need not correspond to the
means-end relation in the mind of
the actor

(D) the means - end relation in objective
reality must correspond to the
means-end relation in the mind of
the actor.

Who has discussed about the functions
of social conflict ?

(A) Collins

(B) Coser

(C) Dahrendorf
(D) Marcuse

10.

11.

12.

TSRS T @ wE, gt fweaed
T T YR fO9M A €2

A) @
(B) &K
(C) wEiEm
(D) =R

) 3 AR T B i g A -

(A) WEFA-3q Heley 799 & IRQWT TF
ARAfehal & GETd S =feT |

(B) TreA-3iq Hay stavd @ forarere &
foram % e B =few |

(C) SEIATHE ARl H HIEA-37d G,
Aavgs AEl fo gug-37d 99y
foramehnes & fo=R & S B |

(D) SEYATH Sfoshdl § WieH-31d Haiy
T & iEF-3d Gy hameRes &
fo=m & 9 e =few

gt "o & Yehrl % wey § == &l
T T TR |

(A) wiferH

(B) &ISX

(C) eEESH

(D) WHE
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13.

14.

15.

16.

Which one of the following does not 13.

constitute the prevailing postulates in

functional analysis ?

(A) Postulate of structural unity of
society

(B) Postulate of functional unity of
society

(C) Postulate of universal functionalism

(D) Postulate of in dispensability

Whose conflict

influenced by phenomenology and
Ethnomethodology ?

(A) L. Coser

(B) R. Dahrendorf

(©) K. Marx

(D) R. Collins

Who distinguished between Individual 15.

and Person ?

(A) TRadcliffe Brown
(B) T. Parsons

(©) Levi-Strauss

(D) S.F. Nadel

Who added the concept of ‘dysfunction’ 16.

in the functionalist theorization ?
(A) Vilfredo Pareto

(B) Emile Durkheim

(C) Robert K. Merton

(D) Auguste Comte

perspective  is 14.

7= § Q@ F o T faveryer § gt
Togia =1 = T Har R ?

(A) THNS % HEEATHS FhE 1 fagia
(B) THN % YIS THE 1 THGIq

(C) wifed® wfshamene =t fagia
(D) SIfrard =1 fagid

qfere fogm iR ama fafy fagm &
forgem dod ufiges gt Srar g2

(A) TA. &R
(B) SR TRSH
(C) . A
(D) SR wifea

=ty oI eedl & Hem X foeaq fean?

(A) TSFAE SAE
(B) <. IREH
(C) A-EHd

by

(D) TH.UE. TEA

YehrIicHS HGifasiel § ' fehan’ shi Hehewr
o1 e fepem T ?

(A) Fo@re T

(B) sHEd @i

(C) WL . 7

(D) ST e
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17.

18.

19.

Who stated that gesture is the basic
mechanism in the social act and in the

social process more generally ?
(A) Talcott Parsons

(B) Lewis Coser

(C) G.H. Mead

(D) Anthony Giddens

A child’s development is represented in
the order of Play stage, Game stage and
Generalised other. Who said this ?

(A) Michael Foucault
(B) Judith Butler

(C) G.H. Mead

(D) S.F. Nadel

Match Ttem in List ~ I with Item List - II
and choose the correct answer from the

codes given below :

List -1 List - II
(a) Dramalogy (i)  Blumer
(b) Game stage (i) R.K. Merton
(¢) Latent function (iii) Erving
Goftman
(d) Symbolic (iv) G.H. Mead
Interactionism
Code :

@ () (© (d
(4) @ @@ @ @)
B) @) (@) () @
© (@v) @ @
(D) @) (@) @@ @

17.

18.

19.

g fore a1 for safaa =0t wra-wfimn v
HE # R onfus v9 | gt gihar 9
e SR fafy €72

(A) T(ChHIE IREH

(B) <iford HIsR

(C) Siw=. e

(D) et fre

3 forem =M § o s=all & T 1 wewie
T S0, TTH =10 AT ST TSR Tfafafesi
% T T @1 ST Thall § 2

(A) WIEHA HheS

(B) Slfed Feer
(C) Sh.u=. Hie
(D) TH.UH. Ted

el - [ 0% I It - 11 #E 9§ ARy

qen T e & wé S T :
T - 1 Tl - 10
(a) A M () =
(b) TH = (i) SRHHET
() T= R (iif) T MR
(d) wikfae® (iv) ST=. He
S foran
he
(@ (b) (o) (d)
(A) @) @) @@ @)
(B) @) (v) @) ()
© v G @ ()
(D) (@) (v) @) ()
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20.

21.

Match Item in List - I with Item in
List - IT and choose the correct answer
from the codes given below :

List-1 List - 11

(a) Bureaucracy (i) G.H. Mead
and
Rationalisation

(b) Looking Glass (i) Erving
Self Goffman

(¢) Covert and
Overt Behaviour

(i) Max Weber

(d) Presentation of (iv)
Self

C.H. Cooley

Code :

@ (® (o (d
(a) @ @ @@ )
B O @) @@ @)
© @@ @) @ @
(D) (@) Gv) @ @

Who among these theorists analysed the
basis of capitalism ?

(A) Anthony Giddens and Herbert
Spencer

(B) Max Weber and Michael Foucault
(C) ]J. Derrida and Emile Durkheim

(D) Karl Marx and Max Weber

20.

21.

et - 19 o I, geir - 11 A2 § foer

ST gon e e @ W S Y
T - 1 g - 10

(@) Rt U @ Siua e
affereerfieTo

(b) fFT T ¥eE (i) T W

() omafE T (ifi) HF AW
S SRR

(d) =Iq H (v) S 3
TR0

e
(@ (® (© @

(A) () @ @) @)

(B) () @) @G @)

© G @v) @) @

(D) @) Gv) @ ()

Ysfrare st R i 3 4§ e fagiaen

fovaifta fean?
(A) TR e &R gefé W

(B) T FeR 3R WIZH Hishee
(€) w9, feer iR dnra gaiE
(D) el A 31 Hed AR
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22.

23.
i windicate a functionalist perspective ?

¥ gy

24.

" 'Who

the
functionalist theorists ?

among following are

(A) Emile Durkheim and Vilfredo
Pareto
(B) Radcliffe Brown and Karl
Mannheim
(C) Auguste Comte and R.K. Merton
(D) Talcott Parsons and Emile
~ Durkheim

Which one of the following does not

The traditional society was
represented by mechanical
- solidarity.
(B) Society fullfills the needs of the
individuals.
(C) The function of family undergoes
changes.

Modernisation is different from
Globalisation.

(D)

Consensus rather than conflict governs
the interrelationship of various parts of
the society. Which theoretical perspective
in Sociology supports this ?

(4)
B) Post-Modernist

(
©
(

Interactionist

Ethnomethodological

D) Functionalist

22,

23.

24.

aﬁﬁaﬁqwﬁaﬁﬁmaw%’

st

(A) ﬁqﬁﬁg‘@ﬁﬂaﬂ?ﬁ@@ﬂ‘@
(B) WW@TWW

(C) 3T hI= SR ARF. HEH
(D) Tl IRE iR TuEd gEied

TTH 9 i | ThIIaTET gReshion st 18 <uil
g7
(A) TERETG 99 & i 91

Trefa fopan Tam ami

HET R

it &1 Fd gRerTatE 9t ¥

(B)
(©)

YRt ésaﬁw@fu':{'sﬁ?
®

(D)

Tfq F & o8, gu & fafie el €

Heiy hl wE H Ed € e § BT
Hgifoen o vow wwelt

(A)  siafrma
(B) STR-SMYfTehararat

(C) wHasfafafafagm:

(D) VTS ATIRL
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25.

26.

27,""

Which sociologists spoke of means - ends
rationality in the study of social action ?

(A) Jurgen Habermas and George Ritzer

(B) "'Grélorg‘e Simmel and Emile
Durkheim
(C) Max Weber and Vilfredo Pareto

(DS Ralf Dahrendorf and George
Homans

Who distinguished between social

structure and structural forms where,

social structure is a network of actually
existing relationship and structural forms

-.are normative pattern of relationship,

social structure changes all the time ?

<(A) R. Brown

(B) Malinowski
(&) T. Parsons
(D) S.F. Nadel

Ideriti_f}; the sociologist whose ideas
profoundly influenced Radcliffe Brown :

(A) S.F.Nadel
(B) Levi-Strauss
(C) E. Durkheim

(D) Adam Kuper

25.

26.

27.

T R ¥ oteH B e gESeR! A
-2 oiifac & fawg ® 31U Ha Wehe
f&m?

(A) T FerAr TR STt s
(B) it Wit iR sHEd gEiRH

©) o A ok el FE
(D) U SRS SR St QT

grfsrs T SR TS WEY % 7
frey O T st e e g |
FAHF T 1 Teh ST © qL1 TAICHh &
& oo qREfda 2R A geidl AR qrESe
T T T A 9y § 2

(A) ST SITSA
(B) Tfrerchl
(C) 3. IREH

(D) THTF. A

3 SIS Sl IEaE whife forees e
YeFeliT SIS W TR G SIS

(A) TETF. EA
(B) E-TEH
€ 3 guiE
(D) TS FR

ey
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28.

29.

30.

“The aim of sociology is to treat social facts
as things’. This statement is given by

(A) A. Comte
(B) G. Simmel
(C) M. Weber
(D) E. Durkheim

Who said this ? “Culture is the

Handiwork of man and the medium
through which he achieves his ends”.

(A) Redfield
(B) R-Brown
(C) Tylor

(D) Malinowski

Max Webber traced the origin of
capitalism to the widespread ideas and
beliefs that prevailed among the people
who belonged to a certain sect of :

(A) Hindustan
(B) Christianity
(C) Zoroastrian

(D) Jainism

28.

29.

30.

‘RIS 6T e Bl § AraiSieR qea
TH O] % Y H o) 39 Y @ feRan
fear?

(A) T &R
(B) fI. "
(C) ™. IR

(D) 3. gafeA

Y forem we T ¢ drla T gra @
T WIS T 3R 9% 39 wieay § oreh of
g Harg?’’

(4) YewiE
(B) ST-uSA
(©) <R
(D) et

Her e 7 3 YSfaTe o ST I Tl S
St fa # 9 fedt e e ¥ o ¥
foram s forvamd § =amyes &9 4 wnfae o)
98 HERHE o1 ¢
(a) fegmm
(B) TEEE
(C) SrdFa

(D) A
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31.

32.

33.

34.

Who has given three important functions 31.
of research design ?

(A) Black and champion
(B) Moser and Kalton

(C) Horton and Hunt

(D) Backstrom and Hursh

Black and Hursh have referred to survey  32.

research as :

(A) Natural research

(B) Field research

(C) Experimental research

(D) Special research

The type of non-probability sample does 33.

not include :

(A) Convenience sample
(B) Purposive sample
(C) Quota sample

(D) Multistage sample

Hypothesis is a proposition which can be 34.

put to test to determine its validity this
definition is by :

(A) Good and Haff

(B) Moser and Kalton

(C) Horton and Hunt

(D) Backstrom and Hursh

T TfvERed o A e Ul i <Rl T
forem feran?

(A) AR TR T
(B) WK 3T e,
(C) & 3L

(D) M T

= 3fR 7 3 wferor e 3H TR Held
foran?

(A) TIEHidEw M

(B) &AWy

(C) TR Y

(D) faftre =iy

- A YRR H, N qiEfer
Tl ?

(A) LTI

(B) SRR LT

(C) e T

(D) SIgERvf T

REReTT T HUR a9 § T8 FiTe
Fua F Fruior & faw heor § e
Hehal &2

(A) T SRS
(B) IR i HeEH
(C) T SRE
(D) Seem 3 el
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35.

36.

37.

When the study is comparison of two
periods, present and past, it is-known
as :

(A) Ex-post facto design
(B) Extra design
(C) Example design

(D) External design

Which one of the following is not a type
of data distribution ?

(A) Frequency
(B) Univariate
(C) Percentage

(D) Cumulating

All those people with characteristics
which the researcher wants to study
within the context of a particular problem
is called as :

(A) Sample
(B) Population
(©) Group

(D) Community

35.

36.

37.

el 3TETFA €1 I, A a9l T H g
% o foren ST &1 A S hEa §

(A) TH-TR HeR) fewmgq
(B) e fewmea

(©) TR fesi

(D) TFHA fewmEA

frefeafea & % o s form &1 T THR
T E?

(A) SRERA

forra oy 9 Weft o foer o o wirereeat
foret T wme & wed o e &
el & 1 Feard & ?

(A) Tm
(B) wAfE
©) ¥
(D) 9g=m
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38.

39.

40.

One question containing two or more
questions is called as :

(A) ambiguous question
(B) difficult wording question
(C) sensitive question

(D) double-barreled question

Which of the following is not a type of
question on the basis of nature and
information elicited ?

(A) Primary
(B) Secondary
(C) Interval

(D) Tertiary

Who has defined observation as
systematic viewing coupled with
consideration of seen phenomena ?

(A) Hoult
(B) Bailey
(C) Sarantakos

(D) P.V. Young

38.

39.

40.

o T Tored <) sreran 91 9 Stfereh TR wh
T F I A 2

(A) gfaurHs T
(B) hfe wI=dl Al UA
(C) HaaTfie 7o

(D) = HRT WA

W TE GEAT SR W Fhifed e
B G TF THR 1 T T 8 7

(A) s

G IRESIRED

(C) AR

(D) T

3T TR ¥ faER % Wy als
ST F 9§ Y0 i Ry f
fem 82

(A) =
(B) et
(C) IR

(D) WAL T
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41.

42,

Which one of the following techniques  41.

was used in Ethnomethodology ?

(A) Content Analysis

(B)

©)

(D)

Which of the following books was written 42,

Interview

Breaching Experiment

Grounded Theory

by Althusser ?

(A)

(B)

(©)

(D)

Politics and history

The order of things

The Constitution of society

Between facts and norms

TSHREESEST = § B afafy s swE
TIAE?

(A) Fe= fagemo

(B) WIEIHR

(C) sifsm s

(D) vees fagia

=1 & @ for g ol SToR | foran 72

(A) iffess oo fewdt

(B) & a7 attw furg

(C) T wifeepm 1w diawEe

(D) faes ey e
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43.

44.

45.

Which of the following scholars is
associated with Neo-functionalism*?

(A) Robert Merton
(B) Alexander Jeffery
(C) Talcott Parsons

(D) B. Malinowski

Which of the following does not include

Components of Ideological State

Apparatus ?

(A) School

(B) Trade Union
(©) Army

(D) Media

‘Deliberations between the bourgeoisie
about public policy and how the state
should encourage bourgeoisie interests” are
referred as

by Habermas ?
(A) Public Sphere

(B) Public Space

(C) Public Policy

(D) Public Interest litigation

43,

44.

45.

= § § 9 w fagm Ta-veEee 9 e
82

(A) U’ WA

YT T FTeR A A T A FA T
oftafea & 272

(A) foemer

(B) TSIG W

© @

(D) wifem

wegfital % o9 o g R I

TR  Herafitel & el i Wefed A

23 arat faar-faayl w1 AN
wefia feam

(A) TESR w8 kw9 H
(B) WS SHaRrel % &9 H
(C) ok Aifd % w4

(D) v fea fee & &9 H
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46.

47.

48.

“A type of action that involves actors
pursuing their goals under the condition
that they can harmonize their plans of
actions on the basis of common situation
definitions”. Which concept does this
can note ?

(A) Value-oriented Action
(B) Emotive Action
(©) Rational Action

(D) Communicative Action

Parsons’ system theory portrays a fully
integrated utopian society based on
Universal consensus and no scope of
change. Who has expressed this view ?

(A) Althuser
(B) Buekley
(C) Olsen

(D) Dahrendorf

Which is the most frequent value or score
in distribution ?

(A) Mode
(B) Mean
(C): Medium

(D) Chi-square

46.

47.

48.

“u R *1 e T feen e oy
A& BT UBT 39 I WS § f S wmr
feorfa 9y % SMUR W 7o /™ A
I WY R & I8 Y Hahoan =t 3
THohd I B2

(A) T-39@ TR
(B) wrErSen TR
(C) tehgaa fomam
(D) EOwvi fokan

IREH % ey WY T T8 9egel i,
FHIeufTe TS 1 Faso 6ear S Wi
HHfq T eeia § aen SuH ufiEdd B o
WhIs T e ¥ 1 39 SR ol fope aem
feman ?

(A) STTqET
(B) gFA
(©) orewd
(D) SRTeH

e, weifeh SR-sR 31 e deg stuar
WHR I AE?

(A) 5ETH
(B) W=

(C) wfee=nt
(D) FR-THARR
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49.

50.

51.

A theory which argues that an actor

.1 enacts social practices by reconstituting

the social givens. Name the scholar who
gave this theory ?

(A) Giddens
(B) Althusser
(C) Levi-Strauss

(D) Foucault

Who states that social sciences create
‘subjected minds and docile bodies” ?

(A) Giddens
(B) Levi-Strauss
(C) Derrida

(D) Foucault

Giddens's works represent a synthesis in
structure agency debate in Sociological
theory. Name that theory :

(A) Structuration
(B) Structuralism
(C) Post-Structuralism

(D) Post-Modernism

49.

50.

51.

e fagia S e saa § % aa 4 yeie
vensdi w1 giad T g foRan wies s
geraTi % SIPUR Y wa § | W g ¢
foram g fepan?

(A) fre=
(B) TEX

(C) TE-TISH

Py

)

(D) e

7z frae ®9F § T TueRne gtk
TReer ol SraRe TR & Fafo w5 §

(A) firg=

(B) wEI-RISHH

3 fagia o 9 0 ¢ foed frew % 9
USRSy § e ol fede & wA
EA S R |

(A) ETE
(B) {EATETg
(C) TW-THER

(D) ST-INYHATR

SPACE FOR ROUGH WORK / 7% Tdl % &t <rmg
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52. One of the hard-hitting sdc¢iolagtcals
-of nationalist;:

historiography is ‘Nationalism witheut a -

critiques’ India’s. ©

Nation in India” written by :
(A)
®)
©
(D)

Kancha Ilaiah

Aloys1us
Salman Rushdie

None of above

53. Match the following :*

Author Work

(a) HerbertRisley (i) People of Indla

(1908)

William Jones - Religion and, ;
L _ z & 5
‘Society amqng the 5

Coorgs

() Kumar Suresh (i) Indology ¥ ™

Singh

(d) MN Srinivas (iv) People of India

(1992-2006)+: i

Code :

® ©
@ @ @ @
® @ O
© O @ @
© O @) @

53.

) fafemm grw,

3%, W%mﬁﬁﬁmé@%ﬁw»ﬁm
ufyegsy, wrIfSe. ereies 3 'Y R

WWEWE?FQW"Wﬁm
W ¥ Y AEE A TMELN,,,

(A) HiST IR
(B) Wit s e
=5 TN M AT SIS S SR RN i ;‘,3"1‘-5‘-‘

(D) ST T F HE &

§id£;.* K
Y rroess s

I L I | AR & g
Al R f.'{.i

rarn e
e

s
PR
MR L3S S

A SETEFISEIER P
&

mﬁxﬁmﬁf&m
‘/ o rw PAET Y

(a) & et (i) Waﬁw‘w
(1908)

(i) fﬁﬁrﬁﬂ'wmgiﬁﬂﬁﬁﬁ

”{'”zfustf

(1) 'S_éﬁm

FraiiiE e S sty

) FHR Guw fHe

k”'

(iv) WWE@T{T

(d) TA.TA. gifam
' (1992+2006):.

T R e e
(A) (i)

(B)
© o

(D) (@) iiiv)-

o WALy
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54.

sEi

- 56,

Assertion (A) :

India s’ regarded as the lanid of diversity

in ‘rdce, region, caste, Ianguage, religion,
cu}ture, fau_na ‘anid flora and so on.’

Reasont (R) : | }

‘Diversification in Indian:society takes

place: on:at least three levels viz societal

. leveL group level and individual level.

Codé::. o .
(A) " (A) and (R)are true and (R) is correct
2 explanahon for (A).

(B)  (A) and: (R} are true, but (R) is not j

correct: Explanatxon for (A)

(C)5 (A) is only true.

(D) ) is only ti-ue

Whi'chof mé‘lii?énwmg religion is

ﬁracﬁsédzg}? ﬁ‘iﬁ%is@éorhg to Hutton
and Balley P

(A) - Animistt ©

(B) Totetnisat- -

(©) Mandismi - -

D) Natunsm

" Which one'of the followmg features of
soon o Casteds not a part of Ghutye's analysis of

caste'? "

4 A)j” Endogamy
o (BY Apuﬁty and Pellutlon

hisr i 1(C’)"fr Heredltary ‘occupation

(DY ‘ClVll and religious disabilities -

54.

55.

56.

afrmes (A) - .
qRe ) A, &, S, e, e, wqaﬁr

Hre-arg-tre dreif genfe ¥ oo aren <

e A |

%R (R)

yra ¥ fafaeand @9 @l SR fm qmisen

wmwwmwm@ﬁﬁ@ﬁ

7

%

() (A) @ (R) ¥ ¥ 3R (R), (A) HT T
e )

(B) (A) 7 (R) T & T (R), (A) F
& e T ¥

(€) U (A) T B

(D) e (B) ¥4 ¥

YRR

@?Eﬁéﬁﬁ%wﬂ_ﬁﬂﬁﬁmﬁm SR
S FoFeent T kY SR § 2

(A) SiEER
(B) TR
() wEER

‘D)F@ﬁaﬁ

fim § | H-o S W R, g

(&) Fa forre

(B) o T g

© = e

(D) Tt it enfder srawmat
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87.

58,

59.

The perspective which gives importance
to scriptures, archeological sources and
Continuity of tradition is ?

(A) Marxist
(B) Subaltern
(C) Indological

(D) Structural functional

Dr. Ambedkar’s writings on caste and
untouchability are labelled as Subaltern
perspective. Choose the reason :

(A) Alternate view of caste
(B) Non-Brahmanical view
(C) Perspective from below

(D) Racial perspective

A.R. Desai analysed Indian Society in
terms of conflicts based on material
conditions. Which perspective does he
represent ?

(A) Marxist
(B) Analytical
(C) Critical

(D) Civilisational

57. % gfem S g, Y s sl v

58.

59.

F HAferar B TeE S R R W R?

(A) wfele

(B) Fewed

Q) FeriSitde
(D) wEFE-HhRAdA

SiIfd W STEqvEd W ST ST % oy
Feee gRehIo] aTeT STl T ¥ HR g
T 9aEY?

(A) wfd =1 Jfeaen gfewm
(B) RS gfew

(©) vERifes win foeh

(D) =it gheswm

IR OE I i el | onafia e
% IS § YReT w1 faverww feardy
foru e = e w0 2

(A) wfeie
(B) Hvfew
(C) 3=
(D) iR

SPACE FOR ROUGH WORK / % & &% 18 wre
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60. Whlch of the followmg languages isnot  60.

incliided in the Tist of off1c1a11y recognised

languages in India ?

(A)
(B)
©)

Nepali
Marathi
Kannada

English

; ;w e

 Which of the followmg is the numencally 61.

Kbty

highest communities in India ?

(A)

(B)

62 Who concelves of Indian Society as 62.

‘Maos
Santhals
Gonds

Bhils

systems of 1deat10na1 or Value patterns or

Cogmtlve structures ?

I H SNHeRrie AR W AR TSR

8 e Frfian - s e

& e?
(A) Tt

(B) W3

(D) faeH

ﬁﬂﬁﬁﬁ?ﬂﬂ?ﬂqwﬁma%
oo AR STE HFAIAS I H

wq H w7

(A) Louis Dumont (A) TEE SR
(B) David Hardiman (B) e TEMH
(C) M.N. Srinivas (C) T, fifea
(D) GS. Ghurye (D) ST @

SPACE FOR ROUGH WORK / % &t % To& <
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63.

64.

65.

The culture of poverty :

(A) is a design for living which is

transmitted from one generation to
the next.

(B) is the standard to see and feel
oneself to be poor.

(C) is the standards which are relative
to the particular time and place.

(D) is a judgement of basic human
needs and is measured in terms of
resources required to maintain
health and physical efficiency.

Divorce refers to :

(A) the physical separation of the
spouses.

(B) the legal termination of a marriage.

(C) the conjugal separation of the
spouses.

(D) the marital avoidance of the
spouses.

As per 2011 census which State in India
has highest population density ?

(A) W.B.

(B) U.P.

(©) Maharashtra
(D) Bihar

63.

64.

65.

Tefen st Heepfa 2 R

(A) o T T R T
H e T Ut fopen st &1

(B) RIS B QM AU FA F Ueh AT
7l

(C) 9 A M Y & TH A

(D) g 3R few draa = S W@
o+ T sTavas Eid & e § 1
e HAEvIhdis 1 Tk g ¥

foare deiy fa=dg =1 o1 ® -
(A) fd 3R 9= w1 ST B |

(B) foraTe 1 HHAT ®9 § UG |
(C) fd ¥R gt o1 Aafeen Gei @ BT

(D) dfd 3R g 1 Sanfesr giEsiH |

G ¥, o 2011 % SIOFT % AR foRe
A i SHEEAT e Falifefd & ?

(A) df¥=m dma
(B) SW W
(©) WY
(D) feo=r

SPACE FOR ROUGH WORK / T® & & forit wre
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66.

67.

In the wake of globalization, education
in India on the one hand has to be globally
competent and locally relevant. What is
needed for this ?

(A) Indian students study abroad

(B) Primary and secondary education
be strengthened

(C) Numerous quality schools and a
couple of good universities

(D) Establishment of many new

universities

Assertion (A) :

Alfred Schultz asserted the importance of
studying how interaction creates and
maintains a “paramount reality”.

Reason (R) :

Actors in contexts construct a vision of
reality.

Code :

(A) (A) is true, but (R) is false.
(B) Both (A) and (R) are true.
(C) Both (A) and (R) are false.

(D) (A) is false, but (R) is true.

66.

67.

Avelieiul o 3Tels W, YRd H TH iR @
foren =t fovaeR W Arerers 3R TER &R
Tofrer AR W yifiR oft @ wifew ) s
fere errerves 7§22

(A) ¥R BE ) fagwl | qem

(B) Wefirk qen wreAfe fan SR off
RIESNIGIRCEIE]

(C) e TUEA A faene 9 F© TH
= favafaremes @t sl

(D) s T fovafaenerml it S

AFUFRT (A)

STEHE TSl 7 I FI Hgw W SR fE
3R sarn o sia:fran fea wor ¢ Sre=
rdferehe | St TEAT LT § 3R ST B
AR

ShIUT (R) :

ey # =+, arfashal & Th dHhed Tl i
TEAT T |

e

(A) (A) T B, W (R) HFA T

(B) (A) T (R) 31 & ¥
(C) (A) T (R) ST =7 T

(D) (A) 39 §, W (R) ¥ T
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68.

69.

70.

Make a sequence of the following factors 68.

in order of their implications on “‘RAPE’
from high to low.

(a) Media Exposure

(b) Public Insecurity

(c) Psychological Disorder
(d) Inadequate Legislations
Code :

(A) (@), (@), () (@

(B) @) () (4, ®)

©) (), ®) (9, (@)

(D) (d), (b), (a), ()

Which of the following does not support 69.

Radical Feminist ideas ?
(A) Women’s Autonomy
(B) Social Reforms

(C) Women's Leadership
(D) Anti Patriarchy

Who viewed life world as consisting of  70.

interpretative patterns with respect to
culture, society and personality ?

(A) Talcott Parsons

(B) George C. Homans
(C©) R.XK. Merton

(D) J. Habermas

9" W frfafaa aei & ffemef #1 9
Ble ATHA H TERU|

(a) Tafsan wei
(b) TR TN
(c) e forpfa
(d) T HL
e

A) (), (@), © (@
(B) (@), (), () ()
© (@), (), ©) (@
(D) (@, (), @) (©

=1 ° @ =1 ewa Tiier faurym
TadT T A 2?2

(A) Higensdi 1 wWE
(B) HHIN FuR

(C) e Ige

(D) foges foredt

Twpfa, ga ok =afsae & 94y
Sa-<Td @i fohem SaEeae Yo &%
T rgeiifera o ?

(A) RR UREH

(B) ifsl ft.
(C) FARF. WA
(D) . ¥ewrE
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71.

72.

73.

Name the theorist who classified action 71..

into four types as (1) teleological
(2) Narrative (3)
(4) communicative ?
(A) G.H. Mead

(B) Herbert Blumer
(C) J. Habermas

(D) Alfred Schultz

dramaturgical

Make a sequence of the impact of  72.

following phenomena in order of time
period on women’s position in India.
(a) Nationalism

(b) Social Reforms

(c) Feminism

(d) Colonialism

Code :

A) @, ®) ©

(B) (d), (b), (@), ()

©) (@) (@), (b) (@

(D) (b), (@), () (d)

Make a

empowerment indicators in order of

sequence of

importance.
(a) Political Participation
(b) Self-Confidence

i (¢) Education

(d) Economic Independence
Code :

(A) (a), () © @)

(B) (), (9) (b), (@)

©) (), () (d), (@)

(D) () (@), (b), (d)

2]

)
),

women 73.

39 fagiaer &1 M saRy e o =
= =) wER (1) feestsa (2) T
(3) THEESIHA (4) FRLAHea # Ffihd
T .

(A) Shwe. He

(B) T TR

(C) . T

(D) 3AShE e

a A Higenell & feufq w Fremafy % 5w
T = aftereieli & 99Td i STIHH SR

(a) TR

(b) EHS GER
(©) BRG]
CAREERIREEI
%<

(A) @, (), (@) (d)
(B) (d), (b), (@), (c)
©) (), (), (b) (@)
(D) (b), (@), (@) (d)

T % A U Hieel Tufoenr & Y i
T SFA TR

(a) TSHITash FEwfiTa

(b) 3TcH-favard

(c) faam

(d) T Teferar

%<

(A) (@), (), (9 (d)

(B) (d), (o), (b), (@)

(©) () (), (d), ()

(D) (o) (a), (b), (d) |
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74.

75.

76.

Assertion (A) :

Globalization is a result.of western-
northern in post-industrialisation crisis.
Reason (R} :

This is away from the question of
humanistic message similarify.

Code :

(A) (A) is true.

(B) (R) is true.

(©) (A) and (R) both are true.

(D) (A) and (R) both are false.

Assertien (A) :

Jajmani practice provides the people with
socio-economic security.

Reason (R) :

They are non cooperative.

Code :

(A) (A) is correct.

(B) (R) is correct. :

(C) (A) and (R) both are true.

(D) (A) and (R) both are false.

Assertion (A) :

Immigration is a process of movement of
the people from one geographical region
to another to settle down there either
permanently or temporarily.

Reason (R) :

Immigration happens much in India.

Code :

(A) {(A) is correct.

(B) (R) is correct.

(©) (A) and (R) both are true.
(D) (A) and (R) both are false.

74. HAT (A) :

75.

76.

Freelientol 1 HRHA e SR e
F Hehe FI ST B

60T (R) :

IE HIHETY Ha¥T STTEYAT o FaTe o I

e

(A) FUA (A) TH €|

(B) R (R) T ¥ |

(C) HUF (A) T FR (R) S T ¥
(D) A (A) T HRU (R) T 10 1

YT (A) :

SISHHT AT SR ohl S, WSS g
Y I B

T (R) :

Y ST ¥ TSN Bl B |

e

(A) U (A) TE R

(B) R (R) Tl B!

(C) W (A) T HRU (R) THI T €
(D) A (A) T HRO (R) EHT 3T8H €

RYA (A) : ‘
YA, T e &9 9 g dhiifess @
T TRl A1 SRR ¥4 9 99 W H Ui
?

HIUT (R) :
IR | Yoo 9gd Bl ¥ |

E R

(A) HF (A) T B

(B) RV (R) Wel 1 ,
(C) ¥ (A) 9 HR (R) THI T €
(D) S (A) T HRU(R) T 3TH |
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77. Match the List - I with List - IT and with

78.

the help of codes given below. Choose
the correct answer :

List - I List - II
(a) Webbs (i) Union
Democracy
(by Lipset (i) Scientific
Management

(c) Tailor (i) Human Relation

(d) Mayo @iv) Industrial
Democracy
Code :
@@ ® ( (@
(A ) @ @) (@
(B) @) ) @) ()
© @ G G G
D) @ Gv) () ()

Assertion (A) :
In the age of globalization due to

urbanisation and industrialisation the
agrarian class of India has been displaced.

Reason (R) :

Due to the land acquisition by the states
agrarian class has been displaced.

Code :

(A) (A) is true, (R) is false.

(B) (A) and (R) both are true.
(C) (A) and (R) both are false.
(D) (A) false and (R) is true.

77. gt - 19 gAY - I H gafea i i

78.

el % 9 i3 T e i wed 9@ 6@
I H IIH BT :

g -1 g - 10
(a) 99 () gFEE SHERE
(b) fade (i) wisfefrm Hamve
(© < (i) T Rerm
(d) ¥ (iv) Tefgad S
e

(a) ) @ @) @
(B) (@(v) @) @@ @)
© O @) @ G
D) @ Gv) @@ (@

AR (A) :
Creicauica kR icauic e IR EE
¥ IO YR H FoF 1 w1 fowem gan B

qeh (R) :

T4 g gfa SAfeRew % SRV FuF a1 B
o g )

e

(A) (A) T ¥, (R) 3T6F 2|

B) (A) 3 (R) 3 w= £

(C) (A) IR (R) 3 e85 B

(D) (A) 37 ¥ iR (R) ¥ B
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79.

80.
dueto:

81.

Assertion (A) :

The perception of motivation and
responsibility has diminished due to the
industrial revolution.

Reason (R) :

This has led the independent ownership

to dependence on employer.

Code:

(A) (A)and (R) both are correct and (R)
is the explanation of (A).

(B) (A)and (R) both are correct but (R)
is not the correct explanation of (A).

(©) (A) is correct but (R) is. wrong.

(D) (A) is wrong but (R) is correct.

Growing incidence of farmers’ suicides is

(A) Growth oriented development
policies :

(B) Decay of joint families

(C) Socio-economic inequalities

coupled with decrease in subsidies

(D) Globalization

Success of land refdrmé would have

- tesulted in :

(A) Growth of rural middle class with
property

(B) Caste conflicts

(©) Equality

(D) Prosperity

79.

80.

81.

HAT (A) :
aﬁﬁﬁmmﬁr@aﬁﬁwq&ﬁﬁaaﬁrﬁ
Ny A I gAT|

RUT (R) :

T WS e e ) @

Toreenfira &2 feam

e

(A) (A) 3T (R) <IFl T E 70 (R), (A) F
e =T R

(B) (A) 3R (R) T w& § W (R), (A)
= WE A A S

©) (A) W & W (R) T B

(D) (A) 7@ T T (R) T B

oAl it eTeeen § Ffg Sl S B HRO

g:

(a) Ffe g fowm ifd

(B) WY IR i foreie

(C) TR e | HER qo Wrnf-
sTfdfeh STEHF

(D) et
-GUR ! YheTdT HT TROmT 31 Bl :
(A) mnﬁmnwawﬁwwfqzﬁﬁg&g
(B) < derd

(C) wuF
(D) &
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82.

83.

84.

85.

MGNREGA gives employment guarantee ~ 82.
~for. ... number of days per year.

(A) 60
(B) 50
(©) 100

(D) None of above

The theory of surplus value has been  83.

discussed by :
(A) Pareto .
(B) ’. .:M;.X Weber
(C) Karl Marx
(D) Durkheim

T,he,pollitical, legal and educational 84.

institutions and the belief and value
systems are primarily determined by
economic factor.

Who was the exponent of this view ?
(A) Max Weber

(B) Karl Marx -

(©) Dahrendorf

(D) Veblen

Which of the following books capturesthe ~ 85.
:Gandhian perspective to development ?

(A) The Asian Drama

(B) Hind Swaraj

(C) Small is beautiful

(D) The Achieving Society

MGNREGA vfaad
ST Y TS a1 81

(A) 60
(B) 50
(C) 100 |
(D) SR H hE T

afmmﬂ@aﬁﬁfﬁ%

(A) F&A
(B) @ FW
©) et e
(D) @i

forvarg aen e fawen Y frufom, Term:
anfifer qel W fft e €1 |

39 fomR & wfques == %2
(A) fmam

(B) el

(C) SwEEH

(D) e

frfafaa fea qws A fowm & gaftm
Tiieare} fraR wewe gt &2 |
(A) f& i g

(B) fE=w=™

(€) e T Faga

(D) fa ofafem wramse
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86.

87.

88,

‘Poverty and inequality can lead to  86.

thwarting of development’. Who said it
in the Indian context ?

(A) Amartya Sen
(B) Samir Amin
(C) D. McClelland

(D) F. Hayek

Who has presented the Institutional  87.

theory of underdevelopment ?
(A) Karl Marx
(B) Mahalanobis
(C) Max Weber

(D) Gunnar Myrdalo

Globalization as a path of development  88.

in India has four parameters.

Which one of these parameters has not
found place in the definition of
Globalization as putforth by the experts
from the developed countries ?

(A) Unhindered trade flow across
national frontiers

(B) Free flow of capital

(C) Free flow of technology among
nation-states

(D) Free flow of movement of labour in

different countries of the world.

et 3R srEmEa fasa | Ut sew
IR % Gy § 3 frme wee 82

(A) s W
(B) HHI e
(€ T fwefcie
(D) Th. &faw

STeqfIeRr it HearT fagia = fea w
T ?

(A) e A
(B) WRIEHISE
(C) T IR
(D) TR fiReen

A H, fog & o9 & 9 § avase
TR M €T § |
frefafaa o 39 Tl o 9 forge), ot
290 & Toviosl & R SvEtEor & g
T el e 872

(A) THT WSl & SR-IR =HEaUF g
SR

(B) Ysit I 3T YATE
(C) Tg-TAl o =it wfaferd] o1 afane oe

fava & fum-fis <9l | gftei &1 @
AN

(D)
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89.

90.

91.

Self-help Groups of women can help
achieve development by empowering
women. Which indicator of development
will improve due to this ?

(A) Life Expectancy
(B) Human Development Index
(C) GDP

(D) Social Development

Population size may decrease as a result

of :
(A) Emigration
(B) Mortality
(C) Both (A) and (B)

(D) Zonation

Which of the following is not vaccine
preventable disease ?

(A) Diphtheria
(B) Pertussis
(C) Kalazaar

(D) Measles

89.

90.

91.

Afgenstl &1 T-HeEdl WHg Afgansll &
guIfeaeRo § foem gfael = gear ¢ 1 359
forera & ford Yok § YUR TR &M ?

(A) Siter g

(B) W4 fomhe Yeehish
(C) g
(D) wHISTeh fasmre

SAHEAT SRR THHT IR B ehall &

(A) SoEE
(B) TR
(©) (A) 7 (B) T
(D) e

Y € forg A0 St § T8 ehr S
Hehal &7

Ay fewffen

(B) wefaw

(C) AR

(D) fauew
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92.

93.

Demographic transition theory is a way 92.

of conceptualising the changes in
population which accompanied industry,
looking to the transformation from a
system with high Dbirth rate balanced by
high death rates to one with low death
rates balanced by low :

(A) Birth rate

(B) Death rate
(C) Fertility

(D) None of above

Match the items in List - I with the items 93.

in List - II :
List - I List - I
(a) Women's day (i) 12th

January
(b) Youth day (i) 8t March

(c) Teacher’s day (i) 15t
December

(d) AIDS day (iv) 5th -
September

(v) 10th
October

Code :

(@ () (o) (d)
(A) (v @) @@ @
(B) @ (@ @) (@v)
© @ @ Gv) (@)
O O @ @& W

Harea i =1 e T § e 9

I e § Hfor smae @l e 1w
RNFEm_ AU
(A) S

B) TIX

(C) e

(D) SR H FE T

e - 1 &1 7S R GE - 1 H w_)
fremgT

-1 et - 11
(a) Tfeen fea@ G) 12, SFEd

(b) I feem (i) 8, A
(c) Toaes feaw (i) 1, femwR

(d) TsH fwm (iv) 5, Faa=r
(v) 10, 3T

G

@@ () (o) (d)
(A) (v) @) @ @
B O (W @) (@)
© @ @ Gv) (i)
D) © @@H &) O
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94. Match the following List - I and 94,

List - II:

(a)

List - IT
Adjusting
to loss of

List - I
Early childhood (i)

partners
Walking

Competence

Declining Age (i)
Late childhood (iii}
at work

Getting use
to living

Adulthood (iv)

away from
parents

Code :

(A)
(B)
©
(D)

95. Assertion (A) : 95.

@ ® © @
@ O
O @ @ @
O @ @
) @) @ O

Liberal Feminists believe in gradual

changes in women’s position in the

society.
Reason (R) :

Liberal Feminists oppose the ideas of

Radical feminists.
Code :

(&)
(B)
(©
(D)

(A) is true and (R) is false.
Both (A) and (R) are false.
Both (A) and (R) are true.
(A) is false and (R) is true.

Tefafea get - & g - 19 frem

-1 et - 11

’ s+t = g
% & ]
eSS
AT e
wr H Tt

94 Hral-
RG]
T 3Ted

C TR

@ @®) (@ (@
(A) @@ @ (v) (i
B @ (iif) (i)
© O @@ ()
(D) (i) (i) ()

RAT (A) :

IR el 39 o W favarw W= § R
nfgeneil ot grafern feafa # - agema
A =8 T

IOT (R) :

IR e, ewa TRiaifeE % foari #
folry = €1

e

(A) (A) T ¥ 3R (R) 319 |

(B) (A) TN (R) ¥4 379 |

(C) (A) T (R) 3 T B |

(D) (A) 3T iR (R) ¥ B
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96.

97.

Assertion (A) :

Globalization increases women's

participation in media.
Reason (R) :

Participation in media empowers the

women.

Code :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A) is true and (R) is false.

(D) (A) is false and (R) is true.

Assertion (A) :

Economic Independence is a definite

indicator of women’s empowerment.
Reason (R) :

Without econornic independence women
can participate in decision making

process.

Code :

(A) (A)is true and (R) is false.
(B) Both (A) and (R) are true.
(C) (A) is false and (R) is true.

(D) Both (A) and (R) are false.

96.

97.

R (A) :

e, fafean o Afgensti &1 wewfi[
gfg o |

ShIUT (R) :

fafean o wewfiran, nfeenedi w1 wvEd sF
®

E TR

(A) (A) T (R) I & T
(B) (A) T (R) T T8 T |
(C) (A) T T iR (R) 379 T

(D) (A) 379 ¢ iR (R) ¥ 2|

hgT (A) :

anfefer Tamefiar Afgensti sl Wi
e THfeea 4= B

IOT (R) :

anfefer Tanefmar & i off Afgemd fol
yfsran § AFiieR & Tehal €1

e
(A) (A) TH T X (R) 316 B
(B) (A) 3 (R) T & T |

(C) (A) 3T9H T T (R) & B

(D) (A) T (R) 31 379 B |
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98.

99.

Assertion (A) :

‘Women'’s act of nourishing the children

is matter of both biology and culture.
Reason (R) :

Men by biology are incompetent to
nourish the children.

Code :

(A) (A) is true and (R) is false.
(B) Both (A) and (R) are true.

(C) (A) is false and (R) is true.
(D) Both (A) and (R) are false.

Match the items in List - I with the items
in List - IT and select the correct answer
from the codes given below :

List - I List - II
() Marry Woll (i) Socialist
Stone Craft Feminism
(b) Kate Millet () Radical
Feminism
(c) Engels (iii) Eco
Feminism
(d) Baudana siva (iv) Liberal
Feminism
Code :
@ () (© (@
A O @ @ @)
(B) @v) @@ @ ()
© @) @) @@ @)
(D) @) @) @) @

98.

99.

HAT (A) :
=1 o qTeH- W@Wﬂﬁﬂﬁﬁaﬁmaﬁr&f
e ek Tiwpfas 2 R

IT (R) :

7ey Sg-fagm & AR W F= HT
ATEH-TTe B 318 ¥ |

G

(A) (A) T T 3R (R) 319 T

(B) (A) @ (R) 3 ¥ T

(C) (A) 3T ¥ iR (R) 9 ¥

(D) (A) TT (R) I oT6A © |

et - 1R w81 &l geit - 1% 7a1 & fred
Hifg den 7 g2 I W& W FT T

-1 -1
(a) O o A () —EHSER
EaL BNl
0 Fifawe @) wEeE
BINEIE
(0 TSeH (i) R EIGED
BIEIE
(d) ==er faen (iv) =R TR
%<
@@ () (@ (@
(a) () @ @) ()
(B) Gv) G) () ()
© O @ @ @)
(D) @ (@) @) @
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100. Match the item in List - I with the items. 100, g - I % W 1 Felt - 11 & 7 ¥ e

in List - II and select the correct answer EAIE LY iR rﬁt-[ %< g 'HE'TB’?R CARES
from the codes given below : RIS ¢
List - 1 List - IT T - 1 eIt - 11
(a) Gender (i) Reserve (a) SIS g () IR &
segregation Army
(b) Female (i) Identity (b) T YuEA (i) TEIH €F
Foeticide Crisis
() Women Labour (iii) SDT (c) Hisen g (i) TEEE
(d) Trans Gender (iv) Wage (d) oSt (iv) WS 9Re
Disparity
Code : e :
@ @® () (9 @ (b ( (@
@A) @ @ @ 0 &) @ @) ) 0
® ) @) 6 @) B ) @ 6 @
© O @) Gv) @) © O @) @) G@
D) @) () O @) D) @) @ 6
-00o0- -000-
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